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Susan has built a triangular wooden patio in her backyard. If each side of the patio measures
18.3 feet, what is the area?

Members of a sports club wear a badge in the shape of an equilateral triangle with side 
length 1.8 inches. Find the area of the badge.
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a) 30.48 in2 b) 34.3 in2 c) 45.61 in2
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a) 94.32 ft2 b) 76.57 ft2 c) 83.66 ft2

Which of the following is the area of the equilateral triangle?

Which of the following is the area of the equilateral triangle?

Find the area of each equilateral triangle. Round your answer to two 

decimal places.
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